ON THE SYMMETRIC PROPERTIES FOR THE GENERALIZED TWISTED GENOCCHI POLYNOMIALS

SEOG-HOON RIM, JOO-HEE JEONG SUN-JUNG LEE, EUN-JUNG MOON, JOUNG-HEE JIN

ABSTRACT. In this paper, we study the symmetry for the generalized twisted Genocchi polynomials and numbers. We give some interesting identities of the power sums and the generalized twisted Genocchi polynomials using the symmetric properties for the p-adic invariant q- integral on \mathbb{Z}_p .

1. Introduction

Let p be a fixed odd prime number. Throughout this paper, the symbols $\mathbb{Z}, \mathbb{Z}_p, \mathbb{Q}_p, \mathbb{C}$, and \mathbb{C}_p will denote the ring of rational integers, the ring of p-adic integers, the field of p-adic rational numbers, the complex number field, and the completion of the algebraic closure of \mathbb{Q}_p , respectively. Let \mathbb{N} be the set of natural numbers and $\mathbb{Z}_+ = \mathbb{N} \bigcup \{0\}$. Let v_p be the normalized exponential valuation of \mathbb{C}_p with $|p|_p = p^{-v_p(p)} = 1/p$.

Let $UD(\mathbb{Z}_p)$ be the space of uniformly differentiable function on \mathbb{Z}_p . For $f \in UD(\mathbb{Z}_p)$, the p-adic invariant q-integral on \mathbb{Z}_p is defined by Kim [7]:

$$(1.1) I_{-q}(f) = \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) = \lim_{N \to \infty} \frac{1}{[p^N]_{-q}} \sum_{x=0}^{p^N - 1} f(x) (-q)^x.$$

Note that

$$I_{-1}(f) = \lim_{q \to 1} I_{-q}(f).$$

From the definition of q-integral, we have

(1.2)
$$I_{-1}(f_1) + I_{-1}(f) = 2f(0)$$
, where $f_1(x) = f(x+1)$.

For $n \in \mathbb{N}$, let $f_n(x) = f(x+n)$.

Then we can derive the following equation from (1.2):

$$I_{-1}(f_n) = (-1)^n I_{-1}(f) + 2 \sum_{l=0}^{n-1} (-1)^{n-l-1} f(l), \text{ (see } [1-8]).$$

For a fixed odd positive integer d with (p, d) = 1, set

(1.4)
$$X = X_d = \lim_{N \to \infty} \mathbb{Z}/dp^N \mathbb{Z}, \quad X_1 = \mathbb{Z}_p,$$

$$X^* = \bigcup_{\substack{0 \le a < dp, \\ a > bp, \\$$

$$a + dp^N \mathbb{Z}_p = \{ x \in X | x \equiv a \pmod{dp^N} \},$$

where $a \in \mathbb{Z}$ satisfies the condition $0 \le a < dp^N$ (see [1-19]).

It is easy to see that

(1.5)
$$\int_X f(x)d\mu_{-q}(x) = \int_{\mathbf{Z}_p} f(x)d\mu_{-q}(x), \text{ for } f \in UD(\mathbb{Z}_p).$$

The ordinary Genocchi polynomials $G_n(x)$ are defined as

(1.6)
$$\frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!}$$

and $G_n = G_n(0)$ are called the Genocchi numbers (see [4, 12 – 13, 16]). For $n \in \mathbb{N}$, let T_p be the p-adic locally constant space defined by

(1.7)
$$T_p = \bigcup_{n>1} \mathbb{C}_{p^n} = \lim_{n \to \infty} \mathbb{C}_{p^n} = \mathbb{C}_{p^{\infty}}$$

where $\mathbb{C}_{p^n} = \{\zeta \in \mathbb{C}_p | \zeta^{p^n} = 1 \text{ for some } n \geq 0\}$ is the cyclic group of order p^n . It is well known that the twisted Genocchi polynomials are defined as

(1.8)
$$\frac{t}{\zeta e^t - 1} e^{xt} = \sum_{n=0}^{\infty} G_{n,\zeta}(x) \frac{t^n}{n!}, \zeta \in T_p$$

and the twisted Genocchi numbers $G_{n,\zeta}$ are defined as $G_{n,\zeta} = G_{n,\zeta}(0)$. Let χ be the Dirichlet character with conductor $d \in \mathbb{N}$ with $d \equiv 1 \pmod{2}$. Then the generalized twisted Genocchi polynomials $G_{n,\chi,\zeta}(x)$ attached to χ are defined as follows:

(1.9)
$$\frac{2t\sum_{l=0}^{d-1}(-1)^{l}\chi(l)e^{lt}}{\zeta^{d}e^{dt}+1}e^{xt}=\sum_{n=0}^{\infty}G_{n,\chi,\zeta}(x)\frac{t^{n}}{n!},\zeta\in T_{p}.$$

In the special case x = 0, $G_{n,\chi,\zeta} = G_{n,\chi,\zeta}(0)$ are called the n-th twisted generalized Genocchi numbers attached to χ (see [5-11]).

2. Symmetry for the generalized Genocchi polynomials

Let χ be the Dirichlet character with conductor $d \in \mathbb{N}$ with $d \equiv 1 \pmod{2}$. For $\zeta \in T_p$, we have

(2.1)
$$t \int_{X} \zeta^{x} \chi(x) e^{xt} d\mu_{-1}(x) = \frac{2t \sum_{l=0}^{d-1} (-1)^{l} \chi(l) e^{lt}}{\zeta^{d} e^{dt} + 1}$$
$$= t \sum_{n=0}^{\infty} \frac{G_{n+1,\chi,\zeta}}{n+1} \frac{t^{n}}{n!},$$

where $G_{n,\chi,\zeta}$ are the n-th generalized twisted Genocchi numbers attached to χ . We also see that the generalized twisted Genocchi polynomials attached to χ are given by

(2.2)
$$t \int_{X} \zeta^{y} \chi(y) e^{(x+y)t} d\mu_{-1}(y) = \frac{2t \sum_{l=0}^{d-1} (-1)^{l} \chi(l) e^{lt}}{\zeta^{d} e^{dt} + 1} e^{xt}$$
$$= t \sum_{n=0}^{\infty} \frac{G_{n+1,\chi,\zeta}(x)}{n+1} \frac{t^{n}}{n!},$$

where $G_{n,\chi,\zeta}(x)$ are the n-th generalized twisted Genocchi polynomials attached to χ .

By (2.1) and (2.2), we can easily see that

(2.3)
$$\int_X \zeta^y \chi(y) (x+y)^n d\mu_{-1}(y) = \frac{G_{n+1,\chi,\zeta}(x)}{n+1} \text{ and } G_{0,\chi,\zeta}(x) = 0.$$

In particular.

$$\int_{X} \zeta^{x} \chi(x) x^{n} d\mu_{-1}(x) = \frac{G_{n+1,\chi\zeta}}{n+1} \text{ and } G_{0,\chi,\zeta} = 0.$$

By (1.3) and (1.5), we have that for $n \in \mathbb{N}$,

(2.4)
$$\int_X f(x+n)d\mu_{-1}(x) = (-1)^n \int_X f(x)d\mu_{-1}(x) + 2\sum_{l=0}^{n-1} (-1)^{n-l-1} f(l).$$

By taking $f(x) = \zeta^x \chi(x) e^{xt}$ in (2.4), it follows that

$$(2.5) t \int_{X} \zeta^{x+nd} \chi(x+nd) e^{(nd+x)t} d\mu_{-1}(x) + t \int_{X} \zeta^{x} \chi(x) e^{xt} d\mu_{-1}(x)$$

$$= 2t \sum_{l=0}^{nd-1} (-1)^{l} \zeta^{l} \chi(l) e^{lt}$$

$$= \sum_{k=0}^{\infty} \{ 2t \sum_{l=0}^{nd-1} (-1)^{l} \zeta^{l} \chi(l) l^{k} \} \frac{t^{k}}{k!}.$$

For $k \in \mathbb{Z}_+$, let us define the p-adic functional $T_{k,\chi,\zeta}(n)$ as follows:

(2.6)
$$T_{k,\chi,\zeta}(n) = \sum_{l=0}^{n} (-1)^{l} \zeta^{l} \chi(l) l^{k}.$$

From (2.5) and (2.6), we observe that for $k, n, d \in \mathbb{N}$,

(2.7)
$$\int_X \zeta^x \chi(x) (nd+x)^k d\mu_{-1}(x) + \int_X \zeta^x \chi(x) x^k d\mu_{-1}(x) = 2T_{k,\chi,\zeta}(nd-1).$$

From (2.3) and (2.7), we obtain the following result.

Theorem 2.1 For $k \in \mathbb{Z}_+$ and $n, d \in \mathbb{N}$. We have

(2.8)
$$\frac{G_{k+1,\chi,\zeta}(nd)}{k+1} + \frac{G_{k+1,\chi,\zeta}}{k+1} = 2T_{k,\chi,\zeta}(nd-1), \zeta \in T_p.$$

Let $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$ and $w_2 \equiv 1 \pmod{2}$. Then we set (2.9)

$$R(\chi,\zeta,w_1,w_2) = \frac{\int_X \int_X \chi(x_1)\chi(x_2)\zeta^{w_1x_1+w_2x_2}e^{(w_1x_1+w_2x_2+w_1w_2x)t}d\mu_{-1}(x_1)d\mu_{-1}(x_2)}{\int_X \zeta^{dw_1w_2x}e^{dw_1w_2x}td\mu_{-1}(x)}$$

By the definition of p-adic invariant integral on \mathbb{Z}_{ν} , we can derive that

$$(2.10) R(\chi, \zeta, w_1, w_2) = \sum_{i=0}^{\infty} \frac{G_{i+1, \zeta^{w_1}, \chi}(w_2 x)}{i+1} \frac{w_1^i t^i}{i!} \sum_{k=0}^{\infty} T_{k, \zeta^{w_2}, \chi}(dw_1 - 1) \frac{w_2^k t^k}{k!}$$
$$= \sum_{l=0}^{\infty} \{ \sum_{i=0}^{l} \binom{l}{i} \frac{G_{i+1, \zeta^{w_1}, \chi}(w_2 x)}{i+1} T_{l-i, \zeta^{w_2} \chi}(dw_1 - 1) w_1^i w_2^{l-i} \} \frac{t^l}{l!}$$

From the symmetry of $R(\chi, \zeta, w_1, w_2)$ in w_1 and w_2 , we also see that

$$R(\chi,\zeta,w_1,w_2) = \sum_{l=0}^{\infty} \{\sum_{i=0}^{l} {l \choose i} \frac{G_{i+1,\zeta^{w_2},\chi}(w_1x)}{i+1} T_{l-i,\zeta^{w_1},\chi}(dw_2-1) w_2^i w_1^{l-i} \} \frac{t^l}{l!}.$$

By the comparing the coefficients on the both sides of (2.10) and (2.11), we have the following result.

Theorem 2.2 Let $\zeta \in T_p$ and $d, w_1, w_2 \in \mathbb{N}$. Then we have

(2.12)
$$\sum_{i=0}^{l} {l \choose i} \frac{G_{i+1,\chi,\zeta^{w_1}}(w_2x)}{i+1} T_{l-i,\chi,\zeta^{w_2}}(dw_1-1) w_1^i w_2^{l-i}$$

$$= \sum_{i=0}^{l} {l \choose i} \frac{G_{i+1,\chi,\zeta^{w_2}}(w_1x)}{i+1} T_{l-i,\chi,\zeta^{w_1}}(dw_2-1) w_2^i w_1^{l-i},$$

where $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$.

We also obtain some identities for the generalized twisted Genocchi polynomials. Taking x = 0 in Theorem 2.2, we have the following corollary.

Corollary 2.3 Let $\zeta \in T_p$ and $d, w_1, w_2 \in \mathbb{N}$. Then we have

(2.13)
$$\sum_{i=0}^{l} {l \choose i} \frac{G_{i+1,\chi,\zeta^{\omega_1}}}{i+1} T_{l-i,\chi,\zeta^{\omega_2}} (dw_1 - 1) w_1^i w_2^{l-i}$$

$$= \sum_{i=0}^{l} {l \choose i} \frac{G_{i+1,\chi,\zeta^{\omega_2}}}{i+1} T_{l-i,\chi,\zeta^{\omega_1}} (dw_2 - 1) w_2^i w_1^{l-i},$$

where $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$.

Now we will derive another interesting identities for the generalized twisted Genocchi polynomials using the symmetric property of $R(\chi, \zeta, w_1, w_2)$.

(2.14)

$$\begin{split} &R(\chi,\zeta,w_{1},w_{2})\\ &=\frac{1}{2}e^{w_{1}w_{2}xt}\{\int_{X}\chi(x_{1})\zeta^{w_{1}x_{1}}e^{w_{1}x_{1}t}d\mu_{-1}(x_{1})\}\times\{\frac{2\int_{X}\chi(x_{2})\zeta^{w_{2}x_{2}}e^{w_{2}x_{2}t}d\mu_{-1}(x_{2})}{\int_{X}\zeta^{dw_{2}x_{2}}e^{dw_{1}w_{2}x_{1}t}d\mu_{-1}(x_{1})}\}\\ &=\sum_{l=0}^{dw_{1}-1}(-1)^{l}\zeta^{l}\chi(l)\int_{X}\chi(x_{1})\zeta^{w_{1}x_{1}}e^{(x_{1}+w_{2}x+\frac{w_{2}}{w_{1}}l)w_{1}t}d\mu_{-1}(x_{1})\\ &=\sum_{n=0}^{\infty}\{\sum_{l=0}^{dw_{1}-1}(-1)^{l}\zeta^{l}\chi(l)\frac{G_{n+1,\chi}\zeta^{w_{1}}(w_{2}x+\frac{w_{2}}{w_{1}}l)}{n+1}w_{1}^{n}\}\frac{t^{n}}{n!}. \end{split}$$

From the symmetric property of $R(\chi, \zeta, w_1, w_2)$, we also see that

$$(2.15) R(\chi,\zeta,w_1,w_2) = \sum_{n=0}^{\infty} \{ \sum_{l=0}^{dw_2-1} (-1)^l \zeta^l \chi(l) \frac{G_{n+1,\chi\zeta^{w_2}}(w_1x + \frac{w_1}{w_2}l)}{n+1} w_2^n \} \frac{t^n}{n!}.$$

Comparing the coefficients on the both sides of (2.14) and (2.15), we obtain the following theorem.

Theorem 2.4 Let $\zeta \in T_p$ and $d, w_1, w_2 \in \mathbb{N}$. Then we have

(2.16)
$$w_1^n \sum_{l=0}^{dw_1-1} (-1)^l \zeta^l \chi(l) \frac{G_{n+1,\chi\zeta^{w_l}}(w_2 x + \frac{w_2}{w_1} l)}{n+1}$$

$$= w_2^n \sum_{l=0}^{dw_2-1} (-1)^l \zeta^l \chi(l) \frac{G_{n+1,\chi\zeta^{w_2}}(w_1 x + \frac{w_1}{w_2} l)}{n+1}.$$

If we take x=0 in Theorem 2.4, we also derive the interesting identity for the generalized twisted Genocchi numbers as follows:

(2.17)
$$w_1^n \sum_{l=0}^{dw_1-1} (-1)^l \zeta^l \chi(l) \frac{G_{n+1,\chi\zeta^{w_l}}(\frac{w_2}{w_1}l)}{n+1}$$

$$= w_2^n \sum_{l=0}^{dw_2-1} (-1)^l \zeta^l \chi(l) \frac{G_{n+1,\chi\zeta^{w_2}}(\frac{w_1}{w_2}l)}{n+1}.$$

Acknowledgements

The authors would like to express their thanks to the unknown referees for their valuable suggestions.

REFERENCES

- T. Kim, K. H. Park and K.-W. Hwang, On the identities of symmetry for ζ-Euler polynomials of higher order, Advances in Difference Equations, vol. 2009, Article ID 273545, 9 pages, 2009.
- [2] T. Kim, Symmetry p-adic invariant integral on Z_p for Bernoulli and Euler polynomials, Journal of Difference Equations and Applications, vol. 2008, no. 12, pp. 1267-1277, 2008.
- [3] T. Kim, Note on the Euler numbers and polynomials, Advanced Studies in Contemporary Mathematics, vol. 17, no. 2, pp. 131-136, 2008.
- [4] T. Kim, Note on q-Genocchi numbers and polynomials, Advanced Studies in Contemporary Mathematics, vol. 17, no. 1, pp. 9-15, 2008.
- [5] T. Kim, The modified q-Euler numbers and polynomials, Advanced Studies in Contemporary Mathematics, vol. 16, no. 2, pp. 161-170, 2008.
- [6] T. Kim, On a q-analogue of the p-adic log gamma functions and related integrals, Journal of Number Theory, vol. 76, no. 2, pp. 320-329, 1999.
- [7] T. Kim, q-Volkenborn integration, Russian Journal of Mathematical Physics, vol. 9, no. 3, pp. 288-299, 2002.
- [8] T. Kim, q-Bernoulli numbers and polynomials associated with Gaussian binomial coefficients, Russian Journal of Mathematical Physics, vol. 15, no. 1, pp. 51-57, 2008.
- [9] T. Kim, J. Y. Choi, and J. Y. Sug, Extended q-Euler numbers and polynomials associated with fermionic p-adic q-integral on Z_p, Russian Journal of Mathematical Physics, vol. 14, no. 2, pp. 160-163, 2007.

- [10] T. Kim, Symmetry of power sum polynomials and multivariate fermionic p-adic invariant integral on Z_p, Russian Journal of Mathematical Physics, vol. 16, no. 1, pp. 93-96, 2009.
- [11] T. Kim, On p-adic interpolating function for q-Euler numbers and its derivatives, Journal of Mathematical Analysis and Applications, vol. 339, no. 1, pp. 598-608, 2008.
- [12] I. N. Cangul, V. Kurt, H. Ozden and Y. Simsek, On the higher-order w-q-Genocchi numbers, Advanced Studies in Contemporary Mathematics, vol. 19, no. 1, pp. 39-57, 2009.
- [13] M. Cenkci, M. Can, and V. Kurt, On the higher-order w-q-Genocchi numbers, Advanced Studies in Contemporary Mathematics, vol. 19, no. 1, pp. 39-57, 2009.
- [14] Y.-H. Kim and K.-W. Hwang, Symmetry of power sum and twisted Bernoulli polynomials, Advanced Studies in Contemporary Mathematics, vol. 18, no. 2, pp. 127-133, 2009.
- [15] B. A. Kupershmidt, Reflection symmetries of q-Bernoulli polynomials, Journal of Nonlinear Mathematical Physics, vol. 12, pp. 412-422, 2005.
- [16] L.-C. Jang, A study on the distribution of twisted q-Genocchi polynomials, Advanced Studies in Contemporary Mathematics, vol. 18, no. 2, pp. 181-189, 2009.
- [17] H. J. H. Tuenter, A symmetry of power sum polynomials and Bernoulli numbers, The American Mathematical Monthly, vol. 108, no. 3, pp. 258-261, 2001.
- [18] T. Kim, Note on the Euler q-zeta functions, Journal of Number Theory, vol. 129, no. 7, pp. 1798-1804, 2009.
- [19] T. Kim, Y-H. Kim, On the symmetric properties for the generalized Twisted Bernoulli polynomials, Journal of Inequalities and Applications, vol. 2009, Article ID 164743, 8 page, 2009.

Seog-Hoon RIM, Joo-Hee JEONG

Department of Mathematics Education,
Kyungpook National University, Daegu 702-701, S. Korea

E-mail: shrim@knu.ac.kr, jhjeong@knu.ac.kr

Sun-Jung Lee, Eun Jung Moon, Joung-Hee Jin
Department of Mathematics,
Kyungpook National University, Daegu 702-701, S. Korea
E-mail: sunjung@knu.ac.kr, mej0917@knu.ac.kr, parisun@hanmail.net